Social Studies 11 – Government

Analyzing Data From Past Election Results

Canadian Federal Election 1988

	Party
	Party Leader
	# of seats
	#s of votes
	% of votes

	Progressive Conservative
	Brian Mulroney
	169
	5,667,543
	43.02%

	Liberal
	John Turner
	83
	4,205,072
	31.92%

	New Democratic Party
	Ed Broadbent
	43
	2,685,263
	20.38%

	Reform
	Preston Manning
	-
	275,767
	2.09%

	Others
	-
	341,849
	2.59%

	Total
	295
	13,175,494
	100%


Background: This election was fought over the issue of Free Trade with the USA.  

Which party do you think supported The Free Trade Agreement? ____________

Which two parties opposed the FTA? __________________________________

Who became the Prime Minister in 1988? _______________________________

Was this government a minority or majority government? __________________

Which party became Her Majesty’s Loyal Opposition? ____________________

Discuss with a partner how the “first past the post” system works.

Compare the percentage of votes with the number of seats for each party.  Which party benefited the most from this system? ___________________Which party’s seats are significantly lower than their total votes as a percentage? ____________


In a paragraph explain how the Canadian electoral system allowed this to happen.

________________________________________________________________________________________________________________________________________________________

________________________________________________________________________________________________________________________________________________________

________________________________________________________________________________________________________________________________________________________

________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________

________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________

Canadian Federal Election 1997 

	Distribution of seats, by political affiliation and sex
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	Party
	Party leader
	Seats
	# of votes
	% of  votes

	Liberal
	Jean Chrétien
	155
	4,994,277
	38.46%

	Reform
	Preston Manning
	60
	2,513,080
	19.35%

	Bloc Québécois
	Gilles Duceppe
	44
	1,385,821
	10.67%

	New Democrats
	Alexa McDonough
	21
	1,434,509
	11.05%

	Progressive Conservative
	Jean Charest
	20
	2,446,705
	18.84%

	Others
	
	1
	211,582
	1.63%

	Total
	301
	12,985,974
	100%


The __________ party formed a majority government in 1997 with ___ seats out of  ___ total seats.  The leader of Her Majesty’s Loyal Opposition was a man named _________________.  His party appealed particularly to __________________ Canadians especially in the provinces of _______________and _______________. Another party that showed specific regional appeal was the _________________ who are active and popular only in _________________.  
In a paragraph discuss the significant changes to Canada’s government from 1988 to 1997. 

________________________________________________________________________________________________________________________________________________________

________________________________________________________________________________________________________________________________________________________

________________________________________________________________________________________________________________________________________________________

________________________________________________________________________________________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

____________________________________________________________________________

Canadian elections follow a system known as “First Past The Post”.  This means that a candidate becomes an MP by receiving more votes than any other candidate.  They do NOT necessarily need to receive a majority of votes.  As a result of this system some parties may gain a disproportionate number of seats when compared to their total number of votes.  





More than 50% of Canadians voted (in 1988) for parties who opposed the Free Trade Agreement between Canada and the US.  In 1989 the FTA was ratified by both Canada and the USA. 








